HRE4AE (F45% 5558408
E=&8 9 N p=SS ==
A AL & =2 31 E i il AR T
e Rk 3 O W B EE
TFS D e LE 1 Sk R T
.55 55 & pIr HHEET A HN
(KB g% T.5)
Bl KA
HPE »100 L= 366.8m
- HPE 675 L= 48. 1m
é%ﬂ“g HPE 650 L= 16. 1m
T 0 ARTIES $100 N 6 Ik
87 ¢ 795 = 4
HY)F 650 N= 3 i
JERTF N= 1 %
MEPNES N= 1 A
K N= 11 &
FE VR FH Y ER EFAKERR
2K 5 K| @R BAAL | A AL H|¥k304 7 H19H
o N
| HIREHEIE T
ETARYS
PRIV FIT | vt et 5 BTN 6 8 8 — 1
£ B3
WK 4 M| ¥25,531,200— | K H|FR304E 7 A23H
BRI BEFR
8 & F H|¥304 7 H24H |58k M B | Fk30412H28H
WE = 2K D
ISR bt
EL-HA
W HES  MUFBEIBERITSH 1 6 750 25 1 HE Ez3
% B 1% R
0K A AL UL S DR
BHEKI | e
g % 75 M OH
VAN




